SA ARSI
B S WS A SSHBDEANLE /LT - 1S
Rl MHtHsS sEAHAH =2E (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=P L=, 556,804 567,625 A821
= 70,000
== 486,804
%%% WHUHE A LHSSEAML /T - ol 392,040 392,040 0
S
= 70,000
== 322,040
HAUS s=EHA 2E 392,040 392,040 0
= 70,000
< 322,040
ATt OrE A 3,000 3,000
202 048l 3,000 3,000
01 2L A 3,000 3,000
OO0l 72 S AR AHEEZH 1,500
O==0l, NS=H S 488 1,500
C 2o E SEE(=1) 50,000 50,000 0
= 25,000
== 25,000
201 Ler23 | 39,400 39,400 0
= 19,700
< 19,700
01 AtR2t2|HI 39,400 39,400 0
ontis etdet=2d X3 39,400
= 19,700
= 19,700
202 04| 4,000 4,000 0
= 2,000
S 2,000
01 2LHoIH 4,000 4,000 0
oN-tis Hdet=2d 84 4,000
= 2,000
== 2,000
308 AtXIEHMSOIE 6,600 6,600 0
= 3,300
= 3,300
18 SIS AS A 6,600 6,600 0
on-tus ddet=2d 82 6,600
= 3,300
= 3,300
AZ 2OHHHUS SEEd XY(=1) 45,000 45,000 0
= 45,000
308 AFAIEHMSOIE 45,000 45,000 0
= 45,000
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SA: AR

I RS WS AY YSHBBTAMYLOE /TR - 812l

Ciol OIS SR = T T (cie) 29
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
01 HXSHH B E2ES 45,000 45,000 0
OAlZ MUsS ctest=8d X3 45,000
= 45,000
=0 et EH| X2 15,000 15,000 0
308 AtXIEMSO0IE 15,000 15,000
01 RSN B E2ES 15,000 15,000
O==0 7EX) R(P2)UHHA X 15,000
ANSE Ald=E 88 & A 14,040 14,040 0
202 OH| 14,040 14,040
01 2L AL 14,040 14,040
OANSHY g2 =& 14,040
SRS A X 260,000 260,000 0
403 AR SHHMSA=01H 260,000 260,000
01 XXM A= E £ 260,000 260,000
O3ZHHRHM Al&IMA K& 260,000
I E ZAnA3 HIX ¥ K& 5,000 5,000
403 AXIEHHSAH=0l 5,000 5,000
01 XISHH A =2 5,000 5,000
OSHHUIIE LHADA HIX & XA 5,000
A—I‘l‘;c@%*_‘?'_i 2 HEM S (SSEAMLE/THT - 2 130,000 133,446 N3,446
259
Qlad ZoH ol 130,000 133,446 A3,446
SENHIZES 243 N 30,000 33,446 N3,446
201 L2 5,020 10,200 A5,180
01 At22telbl 4,000 9,000 25,000
OSEAMHBE =AES NE 4,000
02 2324l 1,020 1,200 A180
OSEZANEIE ZFE SUHE AES 1,020
202 044l 19,480 22,746 N3,266
01 =LA LI 19,480 22,746 A3,266
OSEAMHYBZE &5 = 19,480
305 &= S 500 500
01 ie=S 500 500
O&F12l S 0] 500
308 AHXIEMSOIE 5,000 0 5,000
18 S| 2SI & AEAIE 5,000 0 5,000
OZdEHNY EE2= M= 5,000
HEOIHA ESXIJ Zat 100,000 100,000 0
307 212+01& 100,000 100,000
02 QItASAIEE X 100,000 100,000
OHAIIoH A+ XM At K& 100,000
HE2FZHI(ALSI D) (O1EH/DIE}) 34,764 32,139 2,625
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SN AEIHE D
A HE2HHHI(ALSITHEDE) (O1EH/DIE})
&elr D=3l M2l
SA - BE - SI(3IH) - A - B inien =
JI=22&| 34,764 32,139 2,625
FME2Z Jl=3Hl 34,764 32,139 2,625
201 2Bt 3 24,058 22,079 1,979
01 AtR2t2lt 24,058 22,079 1,979
2N2Y 24,058
202 044l 7,106 6,460 646
01 =04 bl 7,106 6,460 646
OFAN2g =U0H 7,106
203 R =& 3,600 3,600
M EA2EY 3,600 3,600
©30¢e! 0I5t 300,000 * 123 3,600
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